w3

io <r

.H o £

_I,_MA _"m_ o

S £ h_lh

= o ]

I - P - B

TSSHEH E=¥
SO ™
—H O |
-8 A

a ams N

# #WHHIKN D~

L ELHH AR

Y B IE v K=

PEK D Kl

N

i)

=

mﬂm

il

e

g

)

=
=]

S

—

10 m/s

O 9ORTEHRE 1 —28F

[KT—% = GPV+ERE (2011/03/19 09:00) &

HEF= 2011/03/19 09:00

Bty (b E




CKSFEE (IUE) (htE) BESE1 28 LEE Mt 14170208 — 37725718

HE= 2011/03/19 09:00 - 2011/03/19 10:00 | #ssh : 92km X 92km
SKF—% = GPV+EAlE (2011/03/19 09:00) T | FTEEE = 1.00m
— ' — . [AFI]
?E%Fﬁ ~ Lo ﬁ*ﬁ?ﬁ : RS PBESES Ba/n3)
40 km ” ’ 1=1.00x10 ~9
N \;‘“' e 2:5 00)(]0 "10 Q---..---
b }.\L‘ g 3=1.00%10 710 cmecamoem
T - e 4=500x10 11 —=emee-
% —»44—--7;;?;«; "ft JII{;EHH AT e 5=1.00%10 ~11 ==coem-.
0 km, e . S ‘_.‘Qﬁ" : o ‘ : -9
ZKH.\T'E P bl . ol Ty - BRKEE=1.9%10 ~Ba/m3 "
= 5 Mt SOTEILE 0.6 kmiths (D)
s, "'—~, SR e | |
I ,Ji'é‘.‘?ﬁwmh T BER R HEEFLE= PRIDAZI
e N Wl EREFNE= BEETI
s ol e T GEES)
0km , 2 BEAY 28 KFHE= 100 kn
¥ iﬁ.,(: EHFE 5 BEE = 10. Om ‘
i N A S e PRIEEE  =20000 MWD/MTU
S ‘* FFFEERZ1=2011/03/11 16:00
ey T { R a Nim# KL BatARSZ]  =2011/03/19 09:00
~E \ g HHE — =B AR
— el 'J WT N MU - S (RE) : Ba/h Bo)
%{% b , Kol g 3% :1.00%10 0 (1.00%10 0)
e zmh‘ qzam o
ﬁumﬁ_x
—"P-%“Emm 4
Logpua % o woew,
60 ', E‘U”*T r40 km . p20km 0 OBELER 1 — 2 85




22 SRR B -
BEE= 2011/03/19 09:00 - 2011/03/19 10:00
[ART—F =

GPV+§Wﬁ(mnmywngw)$f‘

T e
_zloﬁm%? T I

tisy

W S uq»“ 7

_EE'I |
0 km 3 r
4Py e oy E

LA - ' B s
s y T =" =l -
it%.“ oy a G ot i
[oersee A % ~ B e i
: : s

!

=

._:k k

=t i
EJII#‘I’ $mﬁ
ﬁmm,

5 :.t

ﬁEWEWT'ALK

_40‘%&””’ ! Eﬁm

T

- L\béfﬁ;_\_

- |-50 km ﬁ“lﬂ r40 km

FZO |km 4

BEH 1
BiEs

281 RER
=HNA

MM 14170208 — 372518
$Eis; . 92kn X 92kn

[FL$1]
ZRRUNIRE EEERR (v Gy/h)

1=5.00x10 ~15
2=1 00)(10 =15 oooseses

110 [

4=1. 00)(10 "16 s e o
5=5.00%10 ~17 e

BAmEE=8 8x10 ~15 4 Cy/h
Bt dbdb®m 2.7 kmithss ($ER)

STEET V&= PRWDA21
ERETINGE= BEETN

- [FHEEH]

HEAYaE KFEAE= 1.00 kn
BdE = 10. Om

PREEEE  =20000 MWD/MTU
FEFFEEREZI=2011/03/11 16:00
Bt BIRARS %) =2011/03/19 09:00
BMEE— F=EBMEiH
IR - EE (E) : Ba/h (Ba)
EHR :1.00x10 0 (1.00x10 0

O 9ORTEHRE1 — 28



